
1) An amount was increased by 4% to 
$351.00. Find the original amount.

Answer: ____________

2) 1118/20 ÷ 153/4

Answer: ____________

3) Convert the following fraction into a 
mixed number: 28/20

Answer: ____________

4) 15   3/16 - 14   7/10

Answer: ____________

5) 15   8/19 - 18   9/19

Answer: ____________

6) Find the percentage change from 2 to 
24

Answer: ____________

7) Convert the following fraction into a 
mixed number: 28/20

Answer: ____________

8) Convert the following mixed number 
154/6 into an improper fraction.

Answer: ____________

9) 172/18 ÷ 112/6

Answer: ____________

10) Convert the following mixed number 
218/2 into an improper fraction.

Answer: ____________

11) 35/6 x 94/5

Answer: ____________

12) 178/15 ÷ 74/5

Answer: ____________

13) 4/11 + 7/6

Answer: ____________

14) Convert the following fraction into a 
mixed number: 31/3

Answer: ____________

15) Find the percentage change from 40 
to 8

Answer: ____________
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16) 411/16 x 84/5

Answer: ____________

17) Convert the following mixed number 
1320/3 into an improper fraction.

Answer: ____________

18) 77% of 96

Answer: ____________

19) 13   12/13 - 1   1/15

Answer: ____________

20) 519/20 x 97/18

Answer: ____________

21) 10   3/4 - 1   3/4

Answer: ____________

22) 8   3/17 - 8   7/8

Answer: ____________

23) Convert the following fraction into a 
mixed number: 38/18

Answer: ____________

24) Convert the following mixed number 
2014/3 into an improper fraction.

Answer: ____________

25) Convert the following mixed number 
54/12 into an improper fraction.

Answer: ____________

26) An amount was increased by 4% to 
$70.57. Find the original amount.

Answer: ____________

27) 207/8 x 55/6

Answer: ____________

28) An amount was increased by 2% to 
$31.00. Find the original amount.

Answer: ____________

29) 182/14 ÷ 14/11

Answer: ____________

30) An amount was increased by 10% to 
$412.00. Find the original amount.

Answer: ____________
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Total: ___ / 30
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Answers:

1) $337.50 2) 34/45 3) 12/5 4) 39/80 5) 61/19 6) 1100% 7) 12/5

8) 47/3 9) 126/51 10) 11/1 11) 3717/30 12) 229/117 13) 135/66 14) 101/3

15) -80% 16) 411/4 17) 59/3 18) 73.92 19) 12167/195 20) 55311/360 21) 9

22) 95/136 23) 21/9 24) 74/3 25) 16/3 26) $67.86 27) 12137/48 28) $30.39

29) 1332/105 30) $374.55
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